54%R / External View

W

BRANZ / Components [(x®%&S : TY-34)2008.02.08
No. %# / Part name ¥E / Pcs ME& / Material . REALHE / Color- Finish
1 by 77 /N— / Top cover 1 A UD-A"2-p / Polycarbonate |34M"b- / Light gray
2 [K¥+— / Base 1 NID-N2=NTIXT74AN - 4N b-
Glass fiber filled Light gray
polycarbonate
3 ATy b / Gasket 1 A YU7b3y / Polyurethane 7°3v7 / Black
L |Zv # / Latch 3 A3Ybx / Stainless steel w03 / Unfinished
5 [Emffx—-ZAEA(M6 x 10) 6 K = @90k
Screw(M6 - 10) Steel Trivalent chromate
6 |YMEREXFT R 6 A77b% / Stainless steel w03 / Unfinished
T |Hffx—2Z2AE A (M6 x 10) 6 £k = {@oox-k
=5 Screw(M6 - 10) Steel Trivalent chromate
llill gy
F7 =215 —% / Technical Data
REZAL / Protection class IP65
830 ERARESHE / Operating temperature | -20C ~ +75C
767 288 2 WM 2 o 2/ Flammability class UL94V =0
126 38
181.5 181.5 181.5 181.5
II—H LI L L LI H_I'I mllllll IIIIIIIIIIIIIIIIEEIﬁlE'IIIIIIIII IIIIIIIIIIIIII?HI:II'IIIIIIIIIII IIIIIIIIIIEﬁE\.
e 5 HP0 oflllT o o offile o o |[llle oo
= e o|:
| o I =| ﬂ I=
| i Zl E
I - == =
| -
| & - s §
S S B -
O [N [N | o - -
| . - = =
I m = =
l - - -
I = =
| I
o \I L % @ © %
%IIIIIIIIII | O I TT T I T T T T Y T T II@IIIIW
8-M64IH-rFyh
475 ‘ 365 8-M6 Insert nut
" LN
~ R ) 8% /Title N —
. AR S HFEHTH Bk - BEEERT v x| © T
TAKRCHIELECTRONICS ENCLOSURE Co. LTO- IP65 LATCH-HINGED POLYCARBONATE PLASTIC BOX
6-Mb64I4-hFyh 7903 KRB /Approved | &R /Checked | #E/Created [3%& /Product number RE/Scale1'8
6-M6 Insert nut . BCP(608028S '
) iR 172
{FsB/Date  2019/06/06




K] / Internal View

2 288

T 14— (HR)
Base (Internal View)

\ 8-M61IH-RFyh

BA~TE /Max dim.

173.5

1 1 1 1
[riny E]
[:ﬁk A A A Al
© ©® © © ©
J J
2 \ @
(]
™ ®
O
J | J | {.:)
\ '4 \ '4
a A a A o
& ©® © 19 k.
e 2
L — =
(@]
LN
O
[@N]
= — 1
O
>
[gv]
>
~
|
-'7 —‘iﬂ—\
- 1) =T\, Lk A, T
=

8-M6 Insert nut

B~HE/Max dim. 573.5

71/3— (R18)

Cover (Internal View)

[(xm&= : TY-34)2008.02.08

6-MOAVH-RTyh

6-M6 Insert nut

HXenaHFEHTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

&R/ Approved

1&X /Checked

’§

BN /Created

PR

&% /Title
S —
B K - B5EERBRRA UI-7 2-hT 5K IR O L
IP65 LATCH-HINGED POLYCARBONATE PLASTIC BOX
7% /Product number RE/ScaleTe
BCPC608028S :
fE®B/Date  2019/06/06 272




	BCPC608028S Model (1).pdf
	BCPC608028S Model (2).pdf

